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Practice Test #2 KEY the condensation process is
exothermic and energy moves

# Ans| # |Ans | # |Ans | # | Ans from hot to cold, leaving the
container
1 C |16] A |31 D |46 C 4c — because energy must leave
2 A 117 D 132 A 47| D the container, the forming of
liquid water is exothermic
3| A 18] B [33] A [48] B Ui wateris exotermi
4| C |19] B |34| B [49] A | 5- |
5 D 20 C 35 B 50 B 70> 30 69 30
6 A 21 A 36 A 51 C B7Te® 52 127 52
7 D 2 2 A 3 7 A 5 2 B # of Neutrons #of Electrons Net Charge
8| D 23] D |38 D |53| D 39 28 2
9| B |24 A |39 A |54 A 73 54 2
10, A |25 D (40 B |55] C
11! D 26/ A 41| B |56| B 6 — 75.8% CI-35, 24.2% CI-37
12) A [27| C |42 D |57| C | 75 sy o sy
13| C (28| C |43 B |58| D 20 A
14| C 29| C |44 c |[59| c | P~-300years
15| D |30| B (45| C |60 B
8a -
, 15 25° 2p° 35* 3pf 4s* 30" 4p® 55° 4a"” 5pf 65 41 50" 6p’
Free Response Q’s o_a
1la—-4.00 cm x 3.50 cm c TR
b—-1.26 x 10?% cm ——
¢ — 0.263 Ib/in3 I
e — Outer electron of both Tl and
2a—2.42 atm Pb are in the 6p subshell.
b — 0.0750 mol However, Tl has 81 protons,
c —0.40 atm while Pb has 82 protons. Outer
electrons are more attracted to
3a—46.0J a nucleus with more protons,
b —0.401 kJ requiring more energy to
remove. Because Pb has more
4a — The attractions btwn water vapor protons than Tl, Pb has a
particles are strengthening as the liquid is higher first ionization energy.
forming f — 2.7 x 10%* atoms

b — The temperature of the surroundings is
cooler than that of the container because



Practice Test #3 KEY 3-
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(1) HBr RED BRIGHT HBr - H +Br-

Disseciation Equation
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(ii)| Me(OH) GREEN DIM Me(OH), S Mg* + 2 OH-
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(i) NH;: GREEN DIM NH; + H:0 5 NHy + OH
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8a — Phb(s)+ 2 HCl (ag) — Ha (g) + PhCL (5)

> WO 0®m0OWmO|>»wmwm > 0o 0o0o0n
> > > > 00O mW0oO > 0> > >0000
>0 TOTOTWOOTDmOOOIOCON0O

b—  Ph+2B 22Cr - Hi(g)+PbCh(5)

0a -2 CG:HsO (1) + 9 01 (g) — 6 COx (g) + 8 HyO (1)

la - ClO2 b-453L
b — ClO2 ¢ — 93.8%
c —4.52 x 10?2 molecules q '40039 kJ/mol
, Compound: co €0 e — 306.5 kJ/mol
- 2+ 2
Lewis Structures: tCHO: |: Ca ] [ :ﬁ:} HCTL.2
Ha- Ke=mdin.
Type of Solid Formed: Molecular Solid Ionic Solid b -
Inter-Particle Forces | Dipole-dipole Interactions Tonic Bonds I'H'i'ﬂl - U}'E'E:I: = 361 < 841

Q=TH;][C1] ~ (0.020)0.020)
Because () < K., the reaction will go in the forward directon.
10a — Rate =k[NH;]*[H,0,]* C -

b — 56 <103 ma e
[Hz]eq = [Clz]eq = 0.014 M: [HC1]eq = 0.392 M



Practice Test #4 KEY
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PART 3

# |Ans | # | Ans | # | Ans # Ans
1 F |21 B |41 C 61 A
2 F (22| A |42 C 62 C
3| F |23, A (43| A 63 C
4 F |24 C |44 B 64 B
5| T |25 D |45 D 65 A
6| F |26 A |46| C 66 B
4 T |27 B |47 A 67 D
8, T (28 D (48, A 68 B
9| T |29 C 49| C 69 A
10, F 130 A |50 C 70 C
11| D |31 A |51 C 71 C
12| C | 32 D |52 D 72 A
13| A |33 A |53 C 73 D
14| B (34| C |34 B 74 B
15| A |35 A |55 B 75 B
16/ D [36| D |56 C 76 A
17| D |37 B |57 D 77 B
18| C |38, B |58 | A /8 C
19 D |39, B |59 D 79 A
200 D (40| B |60 B




